		Plant People		Terrapotta			
Sr. No	Item	UOM	Qty	Rate	Amount	Rate	Amount
1	CLUSIA ROSIA M SIZE	Nos	14	10,500.00	147000.00	11,500.00	161,000.00
2	RUSSELIA	Nos	200	60.00	12000.00	75.00	15,000.00
3	LARGE CHAMPA	Nos	4	16,500.00	66000.00	17,250.00	69,000.00
4	VERIGATED YUCCA	Nos	12	1,350.00	16200.00	1,500.00	18,000.00
5	ASPARGUS FERN	Nos	16	950.00	15200.00	1,000.00	16,000.00
6	LARGE CLUSIA ROSIA	Nos	5	10,500.00	52500.00	11,500.00	57,500.00
7	ASSORTED PLANT WITH LARGE CLUSIA	Nos	5	4,000.00	20000.00	4,200.00	21,000.00
8	SPANISH OLIVE TREE	Nos	2	55,000.00	110000.00	60,000.00	120,000.00
		Basic A	mount		438900.00		477500.00
		GST Am	ount 5%		0.00		0.00
		GST Amo	ount 12%		0.00		0.00
		GST Amount 18%			0.00		0.00
		Sub Tota	l Amount		438900.00		477500.00

# **Plant People**

POOJA ENCLAVE 701, WING-E OPP GANESH NAGAR, NEAR ATHARVA COLLEGE 21 FEET OLD LINK ROAD

Mumbai

Phone no.: 8779782090

Email : contactus@plantpeople.in GSTIN : 27AKSPA9675M1Z8

State: 27-Maharashtra



Invoice No.: NPP1698

### **Tax Invoice**

Bill To Invoice Details

#### KAPCO BANQUETS AND CATERING PVT. LTD.

1, RASHID MANSION, WORLI POINT, WORLI Date : 26-09-2024

GSTIN: 27AAGCK1789F1ZA Place of supply: 27-Maharashtra

State: 27-Maharashtra

#	Item name	Quantity	Unit	Price/ unit	GST	Amount
1	LARGE CLUSIA ROSEA HSN/SAC: 60290	19	-	₹ 10,500.00	₹ 0.00 (0%)	₹ 1,99,500.00
2	LARGE CHAMPA TREE HSN/SAC: 60290	4	-	₹ 16,500.00	₹ 0.00 (0%)	₹ 66,000.00
3	RUSSELIA HSN/SAC: 60290	200	Nos	₹ 60.00	₹ 0.00 (0%)	₹ 12,000.00
4	<b>VERIGATED YUCCA SMALL</b> HSN/SAC: 60290	12	-	₹ 1,350.00	₹ 0.00 (0%)	₹ 16,200.00
5	ASPARGUS FERN HSN/SAC: 60290	16	-	₹ 950.00	₹ 0.00 (0%)	₹ 15,200.00
6	ASSORTED PLANT WITH LARGE CLUSIA HSN/SAC: 60290	5	-	₹ 4,000.00	₹ 0.00 (0%)	₹ 20,000.00
7	SPANISH OLIVE TREE HSN/SAC: 60290	2	-	₹ 55,000.00	₹ 0.00 (0%)	₹ 1,10,000.00
	Total				₹ 0.00	₹ 4,38,900.00
Invoice Amount In Words			Sub Total		₹ 4,38,900.00	
Four Lakh Thirty Eight Thousand Nine Hundred Rupees only			SGST@0%		₹ 0.00	
Terms and Conditions			CGST@0%		₹ 0.00	
Please note that goods once sold are not subject to return and			Total		₹ 4,38,900.00	
are non-refundable. Thanks for doing business with us!			Received		₹ 0.00	
				Balance		₹ 4,38,900.00

# **Plant People**

POOJA ENCLAVE 701, WING-E OPP GANESH NAGAR, NEAR ATHARVA COLLEGE 21 FEET OLD LINK ROAD Mumbai

Phone no. : 8779782090

Email: contactus@plantpeople.in GSTIN: 27AKSPA9675M1Z8

State: 27-Maharashtra

Pay To: For :Plant People

Bank Name: HDFC BANK, SHOP NO 1, GUINEA

PARADISE CHS LTD, JAI P

Bank Account No.: 59200020081983

Bank IFSC code: HDFC0000666

Account holder's name: Plant People

FOT PLANT PEOPLE

**Authorized Signatory** 

#### Terrapotta

Pooja Enclave, Wing E 701 Ganesh Nagar Kandivali,

Mumbai

Phone no.: 8369919360

Email: terrapottaindia@gmail.com GSTIN: 27AKKPG6574B1Z5 State: 27-Maharashtra



### Tax Invoice

Bill To Invoice Details

KAPCO BANQUETS AND CATERING PVT.LTD

1, RASHID MANSION, WORLI POINT, WORLI

GSTIN: 27AAGCK1789F1ZA

State: 27-Maharashtra

Invoice No.: TP1002

Date: 26-09-2024

Place of supply: 27-Maharashtra

#	Item name	Quantity	Unit	Price/ unit	GST	Amount
1	Large clusia rosea	19	(2)	₹ 11,500.00	₹ 0.00 (0.0%)	₹ 2,18,500.00
2	Large champa	4	-	₹ 17,250.00	₹ 0.00 (0.0%)	₹ 69,000.00
3	Ruselia	200	-	₹ 75.00	₹ 0.00 (0.0%)	₹ 15,000.00
4	V Yucca small	12	-	₹ 1,500.00	₹ 0.00 (0.0%)	₹ 18,000.00
5	Asparagus fern	16	100	₹1,000.00	₹ 0.00 (0.0%)	₹ 16,000.00
6	Assorted plants	5		₹ 4,200.00	₹ 0.00 (0.0%)	₹ 21,000.00
7	Spanish olive Tree	2	(2))	₹ 60,000.00	₹ 0.00 (0.0%)	₹ 1,20,000.00
	Total	255			₹ 95,525	<b>₹4</b> ,77500.0

Estimate Amount In Words		Sub Total	₹ 4,77,500.00
Fourlakh seventy seven thousand five hundred		SGST@6.0%	₹ 00
		CGST@6.0%	₹ 00
Terms And Conditions	* 1	SGST@9.0%	₹ 00
Thank you for doing business with us.		CGST@9.0%	₹ 00
		SGST@2.5%	₹ 00
		CGST@2.5%	₹ 00
		Total	₹ 4,77,500.00

For: TERRAPOTTA (Partnership)



SINGLE VENDOR DECLARATION						
D	DO NO. IVA DOO/DO/O4 OF/00000F					
	PO NO : KAPCO/PO/24-25/000335					
Vendor Name : PLANT PEO	PLE					
Product Description: PLAN	TS/POTS					
Unit / Project Name : Proje	Unit / Project Name : Projects and Maintenance (Blue Sea Banquets)					
	Price Without GST - 4,38,900.00					
	Total Amount - 4,38,900.00					
Justification:						
Specific plants and pots of different dia single vendor	Only known supplier. ( <u>List of the suppliers</u> which were contacted below and the specific reasons why each was not a viable source).					
Specific material procured by Projects and Maintenance (Blue Sea Banquets)	Only known qualified supplier or item. (List the qualifications that each source or items meet. If another supplier offers a similar item, provide the item identification, supplier information and comparable pricing).					
Customized texure pots and size	<b>Supplier proprietary item.</b> (The selected supplier is the only manufacturer of this item. List the reasons why no substitute item can be used and if no similar item is available).					
Design has been suggest and made to order by archtech	Franchise / Management / User Dept DirectedPOT PLANTERS is our vendor for the installation and commissioning of the cold room, making him our authorized provider for these services. Therefore, we are awarding this order to					
No Contract	Item / Rate Contracted. (Provide copy of the contract / agreement)					
Sonali dhadve						
Prepared By	Approved By					
	μ Αμμιονέα δη					